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® x=-1, (1, 3) @ x=-1, (-1, 0)
® x=1, (-2, 3) @x=1, (1, 3)
® x=1, (1, 0)
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y=-2(x*-2x+1)+2+1
y=-2(x-1)2+3
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OIS y = ¥ +d4x 28y = (x+4)?- B O BE AFAAL 1,
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y=x>+4x+2
=(x+2)2-4+2
=(x+2)2-2
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ojFdT y =22 -8x+3=y=alx+p)?P+qo E=ALHE
a+p+q 9 #= Fstofet

y=2x>-8x+3=2(x%*-4x) +3
=2(x-2)2-8+3
=2(x-2)%-5

a=2,p=-2,q9g=-5

a+p+qg=2+(-2)+(-5)=-5




a+b+c=1, ab+bc+ca=1, abc =1L 4], a3+ b3+ 3 2] F27?
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(a+b+c)?=a*+b?+c?+2(ab + be + ca)
l=a®+b>+c*+2

L @A e =l

a® + b3 + ¢3 — 3abc
=(a+b+c)(a*+b?+c?—ab-bc - ca)
A+ +3-3=1-(-1-1)=-2

LA+ =1




6.  THHA (a—b)(a? +ab+ b?) < AAHEA?

® a®-b? (@)a3—b3
® a4 b? @ a® + 3ad%b + 3ab® + b3

® a® - 3a®b + 3ab® - b®

A 1 (a-b)(a® +ab+b?) =a-b3
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7. (a-b-c)>2 A AN

@® a? + b? + % + 2ab + 2bc + 2ca
@ a?® + b? + % — 2ab — 2bc — 2ca
® a? - b* - c? - 2ab - 2bc - 2ca

@a2+b2+02—2ab+2bc—2ca

® a? - b? -2 + 2ab — 2bc — 2ca

(a=b-c)?
= a® + (=b)? + (=¢)? + 2a(=b) + 2(=b)(~c) + 2(-c)a
= a® + b? + ¢ — 2ab + 2bc — 2ca
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(x) =x* -2 +5x-62 x-2, x- 12 YFAES
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¥ tax® +bx—4= x-22 Y50 Bol2| 1 x4+ 12 YFH Y27}t

6olt}. a- bl gHe Fatelet,
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= x> +ax? + bx - 42} 5HA

f(x)
f2)=4a+2b+4=0----- ®
f(_]- =a-b-5=6------ @
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oA f(x) S x -1, x - 22 e UeR7} 242H 1, 2 o, £(x)

x2 = 3x + 22 UE Y2 S Lotd?

@x—l @x+1 @_x+1
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x-1D01(x)+1 = f(1)=1
(x-2)0:(x)+2 = f(2)=2
(x = 1)(x — 2)Q5(x) + ax + b=} 519,
atb=1 f(2)=2a+b=2°%%
1, b=0°]E& Y4HA|= x
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12, o] f(x)E x - 12 U= o] YyHA]=30], x- 22 U 19
Um 2= 10|t o] gidAlE (x - 1)(x - 2) 2 YE o YA E
ax+ b1 & 0, a4+ bE F5HHY

@ 1 @ 2 @3 @ 4 ® 5

B

fx)=(x=-1)(x=2)0(x) +ax+b
f)y=a+b=3, f(2)=2a+b=1
a=-2,b=5

La+b=3




